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Time integrators in the HPC “landscape”

Most models of physical systems are formulated in terms of the rate of change of some variable, e.g.

— Newton’s 2nd law:

— Chemical rate equations:  

§ Time integrators are used to track changes in solutions as time proceeds, allowing studies of the 
‘evolution’ of a model.
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Time integrators in the HPC “landscape”

Unlike spatial discretization or visualization that live at the bottom/top of the software stack, 
respectively, time integrators typically live in the “middle.” Consider some PDE systems,

§ Using a “method of lines” approach, after spatial discretization, one considers the resulting 
ODE/DAE system:

— y contains all discretized solution components;  f or F encodes the physics & spatial 
discretization

Equations for Slides
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1 CVODE

1.1 Initial Value Problem

dy

dt
= f(t, y), y(t0) = y0 (1)

ẏ = f(t, y), y(t0) = y0 (2)

y0 = f(t, y), y(t0) = y0 (3)

1.2 Nonlinear System

F (yn) ⌘ yn � hn�n,0f(tn, y
n)� an = 0 (4)

G(yn) ⌘ hn�n,0f(tn, y
n) + an = yn (5)

2 CVODES

y0 = f(t, y, p), y(t0) = y0(p) (6)

3 ARKode

3.1 Initial Value Problem

M
dy

dt
= f1(t, y) + f2(t, y), y(t0) = y0 (7)

Mẏ = f1(t, y) + f2(t, y), y(t0) = y0 (8)

My0 = f1(t, y) + f2(t, y), y(t0) = y0 (9)

1

3.2 Nonlinear System

F (zi) ⌘ Mzi � hnA
I
i,ifI(t

I
n,i, zi)� ai = 0 (10)

G(zi) ⌘ hnA
I
i,ifI(t

I
n,i, zi) + ai = zi (11)

4 IDA

4.1 Initial Value Problem

F (t, y,
dy

dt
) = 0, y(t0) = y0,

dy

dt
(t0) = y00 (12)

F (t, y, ẏ) = 0, y(t0) = y0, ẏ(t0) = ẏ0 (13)

F (t, y, y0) = 0, y(t0) = y0, y0(t0) = y00 (14)

4.2 Nonlinear System

F (tn, y
n, h�1

n

qX

i=0

↵n,iy
n�i) = 0 (15)

5 IDAS

F (t, y, y0, p) = 0, y(t0) = y0(p), y0(t0) = y00(p) (16)

6 KINSOL

F (u) = 0 (17)

G(u) = u (18)

7 Runge-Kutta (RK) Methods

7.1 General RK Method

zi = yn�1 + hn

sX

j=1

ai,jf(tn,j , zj), i = 1, . . . , s,

yn = yn�1 + hn

sX

i=1

bif(tn,i, zi)

hn = tn � tn�1

tn,i = tn�1 + cihn

2

@t⇢+r · (⇢u) = 0

@tu+ u ·ru+
rp

⇢
= g

@te+ u ·re+
p

⇢
r · u = 0
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r · u = 0
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Time integrator overview

§ Let                                                .    . Then instead of requiring the solution at all time values, we only 
compute the solution at the finite set of times                .

§ A “time marching” scheme computes these time-evolved solutions using a prescribed update formula:

e.g., explicit Euler,                                            , and implicit Euler, 

§ Time integrator types (explicit, implicit, IMEX):
— If     depends on          then the method is implicit, and requires a nonlinear solve of the form  

— If     does not depend on          then the method is explicit, in that the updated solution may be 
explicitly constructed using known data.

— Implicit-explicit (IMEX) methods arise when only some parts of      depend on         .
— Multirate methods use different time step sizes                     to evolve separate problem components.

yn ⇡ y(tn), tn+1 = tn +�tn
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Time integrator overview (continued)

§ Time integration methods have multiple mechanisms for achieving increased accuracy:

— “One-step” methods use multiple internal stages per step [Runge-Kutta, Rosenbrock].

• More work per-step; amenable to problems with spatial adaptivity & hyperbolic effects.

— “Multistep” methods retain a longer history of previous solutions [Adams-Bashforth, BDF].

• Less work per-step; amenable to problems with strong reaction and diffusion effects.

§ Linear stability: a method is numerically stable if for a desired        , floating-point roundoff error stays 
“controlled” throughout the simulation (vs growing out of control).  For a brief refresher, see here.

— “A-stable”: linearly stable no matter the         -- this is only possible with implicit methods1.

— Otherwise, the method has a maximum stable step size         for any given problem (in PDEs, this is 
frequently given by the CFL condition, wherein                     or                     ).

— Stability ≠ accuracy – just because a solution does not blow up, it is not necessarily accurate.

�tn
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�tn / �x
<latexit sha1_base64="FA6WaVhixZsTPNYYcRaigVIkXZw=">AAACBHicbVDLSsNAFJ3UV62vqMtuBovgqiS1oMuCLlxWsA9oQ5hMJ+3QySTM3IgldOHGX3HjQhG3foQ7/8Zpm4W2Hhg4nHMvd84JEsE1OM63VVhb39jcKm6Xdnb39g/sw6O2jlNFWYvGIlbdgGgmuGQt4CBYN1GMRIFgnWB8NfM790xpHss7mCTMi8hQ8pBTAkby7XL/mgkgGHyJ+4mKE4hxLj34dsWpOnPgVeLmpIJyNH37qz+IaRoxCVQQrXuuk4CXEQWcCjYt9VPNEkLHZMh6hkoSMe1l8xBTfGqUAQ5jZZ4EPFd/b2Qk0noSBWYyIjDSy95M/M/rpRBeehmXSQpM0sWhMBXYJJ01ggdcMQpiYgihipu/YjoiilAwvZVMCe5y5FXSrlXd82rttl5p1PM6iqiMTtAZctEFaqAb1EQtRNEjekav6M16sl6sd+tjMVqw8p1j9AfW5w+27pd0</latexit>

�tn / �x2
<latexit sha1_base64="UlJnheTAhchjfxmQ3ui/ZIa1daQ=">AAACBnicbVDLSsNAFJ34rPUVdSnCYBFclaQWdFnQhcsK9gFNDJPppB06mYSZG7GUrtz4K25cKOLWb3Dn3zhts9DWAwOHc+7lzjlhKrgGx/m2lpZXVtfWCxvFza3tnV17b7+pk0xR1qCJSFQ7JJoJLlkDOAjWThUjcShYKxxcTvzWPVOaJ/IWhinzY9KTPOKUgJEC+8i7YgIIhkBiL1VJCgnOpYe7SmCXnLIzBV4kbk5KKEc9sL+8bkKzmEmggmjdcZ0U/BFRwKlg46KXaZYSOiA91jFUkphpfzSNMcYnRuniKFHmScBT9ffGiMRaD+PQTMYE+nrem4j/eZ0Mogt/xGWaAZN0dijKBDZZJ53gLleMghgaQqji5q+Y9okiFExzRVOCOx95kTQrZfesXLmplmrVvI4COkTH6BS56BzV0DWqowai6BE9o1f0Zj1ZL9a79TEbXbLynQP0B9bnD++VmBg=</latexit>

1So-called “exponential” methods are explicit and may be A-stable, but require significantly more work per-step than 
traditional explicit methods. I know of no open-source HPC library that provides these.
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Choosing between explicit and implicit methods

§ IMEX: a bit of both – one chooses the splitting to balance ‘cheaper’ algebraic solvers and stability.

§ “Stiffness” helps us choose: “The stepsize needed to maintain stability of the forward Euler method is 
much smaller than that required to represent the solution accurately.” (Ascher and Petzold, 1998)

— Depends on Jacobian eigenvalues, system dimension, accuracy requirements, length of simulation.  

— For stability, stiff problems generally require implicit or IMEX methods, with robust implicit solvers.

§ DAEs nearly always require implicit methods to maintain stability due to the algebraic constraint.

§ Multirate methods may be preferable if the ‘slow’ operator is much more costly than the ‘fast’.

Explicit Methods Implicit Methods
+ easy to conceptualize

+ easy to code

+ no algebraic solvers required

− stability limits on step sizes

− tracks fastest dynamics

+ less/nonexistent stability limits

+ steps over fastest dynamics

− requires algebraic solvers

− solvers generally couple all solution unknowns

− increased code complexity
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Adaptive time-step selection

§ Stability alone should never dictate the time steps used in an application.

§ Given a maximum stable step size, adaptive methods select         to obtain a desired solution 
accuracy:

— At each internal step, computes both the solution and an estimate of the error introduced 
in that step.

— If that local truncation error is small enough the step is accepted; otherwise a new step 
size is chosen that should provide sufficient accuracy, and the step is recomputed.

— Advanced “error controllers” adapt these step sizes to meet a variety of objectives:

• minimize failed steps

• maximize step sizes

• maintain smooth transitions in the step sizes as integration proceeds

§ Temporal adaptivity can lead to much more efficient (and accurate) results.

�tn
<latexit sha1_base64="El86UCozgmMaP5HzvQP6cvhqCWk=">AAAB8XicbVBNS8NAEJ34WetX1aOXxSJ4Kkkt6LGgB48V7Ae2oWy2m3bpZhN2J0IJ/RdePCji1X/jzX/jts1BWx8MPN6bYWZekEhh0HW/nbX1jc2t7cJOcXdv/+CwdHTcMnGqGW+yWMa6E1DDpVC8iQIl7ySa0yiQvB2Mb2Z++4lrI2L1gJOE+xEdKhEKRtFKj71bLpES7Kt+qexW3DnIKvFyUoYcjX7pqzeIWRpxhUxSY7qem6CfUY2CST4t9lLDE8rGdMi7lioaceNn84un5NwqAxLG2pZCMld/T2Q0MmYSBbYzojgyy95M/M/rphhe+5lQSYpcscWiMJUEYzJ7nwyE5gzlxBLKtLC3EjaimjK0IRVtCN7yy6ukVa14l5Xqfa1cr+VxFOAUzuACPLiCOtxBA5rAQMEzvMKbY5wX5935WLSuOfnMCfyB8/kDE1iQew==</latexit>
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§ SUNDIALS’ integrators consider initial-value problems of a variety of types:

— Standard IVP [CVODE]: 

— Linearly-implicit, split [ARKODE]:

— Multirate [ARKODE/MRIStep]: 
— Differential-algebraic form [IDA]: 

§ By “integrate” we adapt time steps (and/or method order) to meet user-specified tolerances:

— is the estimated temporal error in the time step
— is the previous time-step solution
— encodes the desired relative solution accuracy (number of significant digits)
— is the ‘noise’ level for any solution component (protects against            )

“Solving” Initial-Value Problems with SUNDIALS

ẏ(t) = f(t, y(t)), y(t0) = y0

error 2 RN

rtol 2 R
atol 2 RN yk = 0

y 2 RN

"
1

N

NX

k=1

✓
errork

rtol |yk|+ atolk

◆2
#1/2

< 1

F (t, y(t), ẏ(t)) = 0, y(t0) = y0, ẏ(t0) = ẏ0

M ẏ(t) = f1(t, y(t)) + f2(t, y(t)), y(t0) = y0
<latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit><latexit sha1_base64="(null)">(null)</latexit>

ẏ = fF (t, y) + fS(t, y), y(t0) = y0
<latexit sha1_base64="DdjKIFp8cCmvS728LSXzlNmLoD8=">AAACG3icbZDLSgMxFIYz9VbrrerSTbAILZYyUwu6EQqCuKxoL9DWIZNm2tDMxeSMMAx9Dze+ihsXirgSXPg2ppeFtv4Q+PjPOZyc3wkFV2Ca30ZqaXlldS29ntnY3Nreye7uNVQQScrqNBCBbDlEMcF9VgcOgrVCyYjnCNZ0hhfjevOBScUD/xbikHU90ve5yykBbdnZcqcXQBKP8Dl27y7zUIwL+FjjzQSLuHMfkR6O82CbBd0T22bGzubMkjkRXgRrBjk0U83OfuolNPKYD1QQpdqWGUI3IRI4FWyU6USKhYQOSZ+1NfrEY6qbTG4b4SPt9LAbSP18wBP390RCPKViz9GdHoGBmq+Nzf9q7Qjcs27C/TAC5tPpIjcSGAI8Dgr3uGQURKyBUMn1XzEdEEko6DjHIVjzJy9Co1yyTkrl60quWpnFkUYH6BDlkYVOURVdoRqqI4oe0TN6RW/Gk/FivBsf09aUMZvZR39kfP0AoMqdVQ==</latexit>

https://computing.llnl.gov/projects/sundials
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§ PETSc’s TS module provides a unified interface for implicit, explicit, & IMEX ODEs and DAEs:

— F(t,y,y’) – stiff portion;  G(t,y) – nonstiff portion

§ Trilinos includes both an older Rythmos module for ODEs and DAEs: 

As well as a newer Tempus module for ODEs:

— Top: G(t,y) stiff, F(t,y) nonstiff;  Bottom: Newmark integrators for second-order ODEs

§ All perform temporal adaptivity, and provide a rich set of algebraic solvers for implicit time 
integration methods.

Other DOE Time Integration Packages

F (t, y, ẏ) = G(t, y), y(t0) = y0
<latexit sha1_base64="C8gckEVTrYn9UdDfLKCEgqHsAe8=">AAACE3icbZDLSgMxFIYzXmu9jbp0EyxCK6XM1IJuhIKgLivYC7RlyKRpG5q5mJwRhqHv4MZXceNCEbdu3Pk2ZtoutPWHwM93zklyfjcUXIFlfRtLyyura+uZjezm1vbOrrm331BBJCmr00AEsuUSxQT3WR04CNYKJSOeK1jTHV2m9eYDk4oH/h3EIet6ZODzPqcENHLMk6s8FONipxdAEo8L+AJfp6BQ7NxHpIfjPDhWSmPHcsycVbImwovGnpkcmqnmmF/6Whp5zAcqiFJt2wqhmxAJnAo2znYixUJCR2TA2tr6xGOqm0x2GuNjTXq4H0h9fMAT+nsiIZ5SsefqTo/AUM3XUvhfrR1B/7ybcD+MgPl0+lA/EhgCnAaEe1wyCiLWhlDJ9V8xHRJJKOgYszoEe37lRdMol+zTUvm2kqtWZnFk0CE6QnlkozNURTeohuqIokf0jF7Rm/FkvBjvxse0dcmYzRygPzI+fwD/g5sI</latexit>

F (t, y(t), ẏ(t)) = 0, y(t0) = y0, ẏ(t0) = ẏ0

M(t, y) ẏ(t) = G(t, y) + F (t, y), y(t0) = y0

M ÿ(t) + C ẏ(t) +K y(t) + F (t) = 0, y(t0) = y0, ẏ(t0) = ẏ0

<latexit sha1_base64="wjOoLMO/Zs4yah2aR1i03pe95jU="></latexit>

https://www.mcs.anl.gov/petsc/
https://trilinos.github.io/
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Implicit methods require a nonlinear solver for  F(x) = 0

The PETSc team is presenting on nonlinear solvers in sessions parallel to this one, so I’ll only 
give a high-level idea, leaving details for them.

Nonlinear solvers must be iterative, since few nonlinear equations admit analytical solutions.

The two largest classes of nonlinear solvers are fixed-point vs Newton-based.

§ FP typically use only F and converge linearly, but may have a large domain of convergence.

§ Newton uses both F and the Jacobian                          (or an approx.):

— Each iteration requires a linear solve with the matrix J (see linear solvers talks this AM).

— Typically converge quadratically (or superlinearly, depending on how well J is solved). 

— For most problems, Newton is algorithmically scalable – as the mesh is refined, the 
number of iterations remains fixed, so scalability hinges on the linear system solver.

J(x) ⌘ @F(x)
@x

<latexit sha1_base64="mNRYdQe02L6xVnsWpsYOMIrkqVU="></latexit>
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Take Away Messages

§ SUNDIALS, PETSc, and Trilinos provide a wide variety of high quality, scalable ODE/DAE 
integrators and nonlinear solvers.

§ PDEs can be converted to ODEs/DAEs via spatial semi-discretization, and then integrated using 
ODE/DAE libraries.

§ Stiffness is an important characteristic of ODEs, and helps dictate which methods are appropriate 
for any given problem.

§ Adaptive time-stepping provides an inexpensive means to combine algorithmic efficiency and 
solution quality.

§ Scalability of implicit and IMEX methods hinges on selection of robust and scalable algebraic 
solvers; while Newton methods can handle nonlinearities, robustness and scalability of the inner 
linear solver is critical (and often problem-dependent).
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Hands-on lessons

Switch over to web-based hands-on lesson instructions – webpage

Agenda:

1. Explicit time integration (HandsOn1.exe)

2. Implicit / IMEX time integration (HandsOn2.exe)

3. Preconditioning (HandsOn3.exe)

https://xsdk-project.github.io/MathPackagesTraining2020/lessons/time_integrators_sundials


Disclaimer
This document was prepared as an account of work sponsored by an agency of the United States government. Neither the United 
States government nor Lawrence Livermore National Security, LLC, nor any of their employees makes any warranty, expressed or 
implied, or assumes any legal liability or responsibility for the accuracy, completeness, or usefulness of any information, apparatus, 
product, or process disclosed, or represents that its use would not infringe privately owned rights. Reference herein to any specific 
commercial product, process, or service by trade name, trademark, manufacturer, or otherwise does not necessarily constitute or 
imply its endorsement, recommendation, or favoring by the United States government or Lawrence Livermore National Security, 
LLC. The views and opinions of authors expressed herein do not necessarily state or reflect those of the United States government 
or Lawrence Livermore National Security, LLC, and shall not be used for advertising or product endorsement purposes.
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Linear Stability – A brief refresher

A fundamental question for any time integration method is how well it handles errors due to floating-point 
roundoff. To this end, we consider the simple “Dahlquist” test problem:

§ Here, y corresponds to the normalized floating-point error, and    to the largest eigenvalue of the 
Jacobian of a prototypical ODE right-hand side function (assumed to satisfy                 ).

§ The true solution to this problem is just                   , which decays to zero as             , indicating that 
roundoff errors should decay as the simulation proceeds.

§ The numerical method, on the other hand, computes approximate solutions

that may (or may not) similarly satisfy the similar requirement that                                 .

§ Generally, this decay in numerical roundoff error will only occur for specific values of                      .  We 
therefore define the stability region for a method as 

y0(t) = �y(t), y(0) = 1
<latexit sha1_base64="Ck7cMBWLZ5LNQKI5M1c5W9CCrto=">AAACDXicbVDNS8MwHE3n15xfVY9eglOcIKOdA70IAy8eJ7gPWMtI03QLS9OapEIZ+we8+K948aCIV+/e/G9Mtx5080Hg5b3fI/k9L2ZUKsv6NgpLyyura8X10sbm1vaOubvXllEiMGnhiEWi6yFJGOWkpahipBsLgkKPkY43us78zgMRkkb8TqUxcUM04DSgGCkt9c2j9KSiTuEVdJgO+Qim+noGnfsE+ZpbmWX3zbJVtaaAi8TOSRnkaPbNL8ePcBISrjBDUvZsK1buGAlFMSOTkpNIEiM8QgPS05SjkEh3PN1mAo+14sMgEvpwBafq78QYhVKmoacnQ6SGct7LxP+8XqKCS3dMeZwowvHsoSBhUEUwqwb6VBCsWKoJwoLqv0I8RAJhpQss6RLs+ZUXSbtWtc+rtdt6uVHP6yiCA3AIKsAGF6ABbkATtAAGj+AZvII348l4Md6Nj9lowcgz++APjM8fvlSYIQ==</latexit>
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<(�) < 0
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y(t) = e�t
<latexit sha1_base64="Zs7wVLKw7VPJr/6pc0Kclsp8Jp0=">AAAB/XicbVDLSsNAFJ3UV62v+Ni5GSxC3ZSkFnQjFNy4rGAf0MYymUzaoZMHMzdCDMVfceNCEbf+hzv/xmmbhbYeGDiccw/3znFjwRVY1rdRWFldW98obpa2tnd298z9g7aKEklZi0Yikl2XKCZ4yFrAQbBuLBkJXME67vh66ncemFQ8Cu8gjZkTkGHIfU4JaGlgHqUVOMNXmN1nfaFjHsEwGZhlq2rNgJeJnZMyytEcmF99L6JJwEKggijVs60YnIxI4FSwSamfKBYTOiZD1tM0JAFTTja7foJPteJhP5L6hYBn6u9ERgKl0sDVkwGBkVr0puJ/Xi8B/9LJeBgnwEI6X+QnAkOEp1Vgj0tGQaSaECq5vhXTEZGEgi6spEuwF7+8TNq1qn1erd3Wy416XkcRHaMTVEE2ukANdIOaqIUoekTP6BW9GU/Gi/FufMxHC0aeOUR/YHz+AOX9lDA=</latexit>

t ! 1
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yn+1 = �(�tn, yn+1, yn, . . .)
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yn ! 0 as n ! 1
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�t� = z 2 C
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S = {z 2 C : �z(yn) ! 0 as n ! 1}
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Linear Stability Example – Explicit Euler

Consider the explicit Euler method: 

For the Dahlquist test problem, this becomes

which only decays to zero if                          .

Hence the explicit Euler linear stability region is 

yn+1 = yn +�tf(tn, yn)
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yn+1 = yn +�t�yn = (1 +�t�)yn = (1 +�t�)2yn�1 = . . . = (1 +�t�)n+1y0 = (1 +�t�)n+1
<latexit sha1_base64="/OU74eDjZZsBDYE02i4uwBN1TIk="></latexit>

|1 +�t�| < 1
<latexit sha1_base64="R0zYY/AaHPZ3t/6d/RRBNIBIjmg=">AAACEXicbVC7SgNBFJ2NrxhfUUubwSAEhLAbA1pYBLSwjGAekA1hdnI3GTL7YOauEGJ+wcZfsbFQxNbOzr9xkmyhiQcuHM65d+be48VSaLTtbyuzsrq2vpHdzG1t7+zu5fcPGjpKFIc6j2SkWh7TIEUIdRQooRUrYIEnoekNr6Z+8x6UFlF4h6MYOgHrh8IXnKGRuvmiK8HHB+rQU+peg0RGkbrSPNBj1FWiPzDmJXVy3XzBLtkz0GXipKRAUtS6+S+3F/EkgBC5ZFq3HTvGzpgpFFzCJOcmGmLGh6wPbUNDFoDujGcXTeiJUXrUj5SpEOlM/T0xZoHWo8AznQHDgV70puJ/XjtB/6IzFmGcIIR8/pGfSIoRncZDe0IBRzkyhHElzK6UD5hiHE2I0xCcxZOXSaNccs5K5dtKoVpJ48iSI3JMisQh56RKbkiN1Aknj+SZvJI368l6sd6tj3lrxkpnDskfWJ8/poea9A==</latexit>

S = {z 2 C : |1 + z| < 1}
<latexit sha1_base64="kQhQf64jOQWKUIIMV9FoXyWrh+U="></latexit>

From https://en.wikipedia.org/wiki/Euler_method

https://en.wikipedia.org/wiki/Euler_method
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Linear Stability Example – Implicit Euler

Consider the implicit Euler method: 

For the Dahlquist test problem, this becomes

which only decays to zero if                          .

Hence the explicit Euler linear stability region is 

yn+1 = yn +�tf(tn+1, yn+1)
<latexit sha1_base64="90rsScit30E5balVpOXPUYB9uyA=">AAACFXicbVDLSgMxFM34rPVVdekmWIRKS5lRQTdCQRcuK9gHtGXIpJk2NJMZkjvCMPQn3Pgrblwo4lZw59+YtrPQ1gOBwznncnOPFwmuwba/raXlldW19dxGfnNre2e3sLff1GGsKGvQUISq7RHNBJesARwEa0eKkcATrOWNrid+64EpzUN5D0nEegEZSO5zSsBIbqGSuKksO2N8hRNX4jLu3jABBAP2SzCzKjjLnLiFol21p8CLxMlIEWWou4Wvbj+kccAkUEG07jh2BL2UKOBUsHG+G2sWEToiA9YxVJKA6V46vWqMj43Sx36ozJOAp+rviZQEWieBZ5IBgaGe9ybif14nBv+yl3IZxcAknS3yY4EhxJOKcJ8rRkEkhhCquPkrpkOiCAVTZN6U4MyfvEiap1XnrHp6d16snWd15NAhOkIl5KALVEO3qI4aiKJH9Ixe0Zv1ZL1Y79bHLLpkZTMH6A+szx83LJxN</latexit>

yn+1 = yn +�t�yn+1 , yn+1 = (1��t�)�1yn = . . . = (1��t�)�(n+1)
<latexit sha1_base64="G5jZJqY3HKauNxQK9PiLh1xF2h8="></latexit>

|1��t�| > 1
<latexit sha1_base64="T9pkaH8LbhRuoTfmJx+rXLHT+6U=">AAACEXicbVC7SgNBFJ2NrxhfUUubwSCkMezGgFYS0MIygnlANoTZyd1kyOyDmbtCiPkFG3/FxkIRWzs7/8ZJsoUmHrhwOOfemXuPF0uh0ba/rczK6tr6RnYzt7W9s7uX3z9o6ChRHOo8kpFqeUyDFCHUUaCEVqyABZ6Epje8mvrNe1BaROEdjmLoBKwfCl9whkbq5ouuBB8fqENPqXsNEhlF6krzQI9RV4n+wJiX1Ml18wW7ZM9Al4mTkgJJUevmv9xexJMAQuSSad127Bg7Y6ZQcAmTnJtoiBkfsj60DQ1ZALoznl00oSdG6VE/UqZCpDP198SYBVqPAs90BgwHetGbiv957QT9i85YhHGCEPL5R34iKUZ0Gg/tCQUc5cgQxpUwu1I+YIpxNCFOQ3AWT14mjXLJOSuVbyuFaiWNI0uOyDEpEoeckyq5ITVSJ5w8kmfySt6sJ+vFerc+5q0ZK505JH9gff4ArNma+A==</latexit>

S = {z 2 C : |1� z| > 1}
<latexit sha1_base64="nx/JdfRXEH/YspAbkQR57jVmohs="></latexit>

From https://en.wikipedia.org/wiki/Backward_Euler_method

https://en.wikipedia.org/wiki/Backward_Euler_method


17ATPESC 2020, July 26 – August 7, 202017

Why use an integrator library (instead of “rolling your own”)

§ Many applications (particularly early in the development process) prefer complete control over their software stack 
and build system, and therefore choose to implement all numerical methods manually.

§ While this can work, the resulting methods may be overly simplistic (e.g., straight out of “Numerical Recipes”) or even 
buggy, and do not benefit from advanced “expert” features.

§ Integrator libraries, on the other hand, are typically bug-free, heavily tested, and admit numerous benefits:

— Time adaptivity (        ) – providing approximate solutions of requested accuracy with minimal work.  Libraries 
request your desired accuracy, not step size.

— Seamless integration with scalable algebraic solver libraries for implicit and IMEX problems.

— Include many advanced options for later use: temporal root-finding, forward/adjoint sensitivity analysis, 
globalization options (nonlinear solvers), …

§ For more information:
— SUNDIALS: https://computing.llnl.gov/projects/sundials
— PETSc: https://www.mcs.anl.gov/petsc/
— Trilinos: https://trilinos.github.io/

�tn
<latexit sha1_base64="El86UCozgmMaP5HzvQP6cvhqCWk=">AAAB8XicbVBNS8NAEJ34WetX1aOXxSJ4Kkkt6LGgB48V7Ae2oWy2m3bpZhN2J0IJ/RdePCji1X/jzX/jts1BWx8MPN6bYWZekEhh0HW/nbX1jc2t7cJOcXdv/+CwdHTcMnGqGW+yWMa6E1DDpVC8iQIl7ySa0yiQvB2Mb2Z++4lrI2L1gJOE+xEdKhEKRtFKj71bLpES7Kt+qexW3DnIKvFyUoYcjX7pqzeIWRpxhUxSY7qem6CfUY2CST4t9lLDE8rGdMi7lioaceNn84un5NwqAxLG2pZCMld/T2Q0MmYSBbYzojgyy95M/M/rphhe+5lQSYpcscWiMJUEYzJ7nwyE5gzlxBLKtLC3EjaimjK0IRVtCN7yy6ukVa14l5Xqfa1cr+VxFOAUzuACPLiCOtxBA5rAQMEzvMKbY5wX5935WLSuOfnMCfyB8/kDE1iQew==</latexit>

https://computing.llnl.gov/projects/sundials
https://www.mcs.anl.gov/petsc/
https://trilinos.github.io/

